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a = mput("Enter a:")
b = mput("Enter b:")
sum=a+b
print("Sum 1s ", sum)
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a = mput("Enter a:")
b = mput("Enter b:")
a = 1nt(a)

b = mt(b)
sum=a+Db
print("Sum is ", sum)
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File "<pyshell#2>", line 1. in <module<
n = int(input("Enter n((":

ValueError: invalid literal for int() with base 10: '12A12'
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-
a=int(a)

b = mput("Please enter number2: ") Jsl e a
b = mt(b)
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Please enter numberl: 12
Please enter number2: 15
12 + 15 = 27
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area = 3.14159 * r**2

print("The area 1s ", area) L -
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minute = second / 60 s ol b 5 b & o Age

hour = second / 3600 ) o ' o

print ('Second 1s . second) b w o second

print ('Minute 1s ', minute)

print (‘Hour 1s ', hour) A2 % o~ | minute
e hour
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a= %nput(”]-:nter a number: ") Baa yuiin
a = inf(a) .

r1=a% 10 92 24 :
12=a//10 O = Iy

print ("Reverse 1s ", r1 * 10 +12)
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x = mt(input("Enter x: "))
y = int(input("Enter y: ))
Z=X*¥3+2 kg ** y
print ("Z= ", z)
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Enter x: 7
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Enter stringl: Fanavarienovin
Enter string2: Publisher
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a = mt(input("Enter a: "))

Ban yodn
rl=a% 10
2=a //10 Pl Sels a
pr%nt(rl._" R 2, =" **r2) 55 3, I
print(r2," ** " rl," =" 12 **rl) '
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a = int(input("Enter a: ")) Gua .
h = mt(input("Enter h: "))
. * a-\.ﬁlﬁ a
s=a*h/2
print("Areais ", s) cUs h
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Enter a: 7
Enter h: 9
Areais 31.5
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a = mt(input("Enter a: ")) ERTY ki
b = float(input("Enter b: ")) - a
¢ = mput("Enter ¢: ") adadct ks
print("Type ais " . type(a)) S ode £ ) Garss g | D
print("Type b is ", type(b))

print("Type c1s " . type(c)) Sl § 95l 82009 i ¢
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Enter a: 10

Enter b: 12.5

Enter c: string

<'Type a is <class 'Int
<'Type b is <class 'float

<'Type c is <class 'str
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